

A new method for functions expansion with using triangular fuzzy numbers

SALIM REZVANI

Received 26 October 2012; Accepted 4 November 2012

ABSTRACT. In this paper, A new mathematical function expansion for triangular fuzzy numbers of type (m, α, β) are devised. The proposed expressions are direct and do not need the computation of α -cut of the fuzzy number on which the operation is desired. The expressions have been devised using traditional algebraic mathematics and are easy to comprehend. Various numerical examples are also solved to demonstrate the use of contrived expressions. Direct mathematical expressions to evaluate expansion Trigonometric functions of type (m, α, β) are obtained using the basic analytical principles of algebraic mathematics and Taylor series expansion.

2010 AMS Classification: 06D72, 08A72, 47S40

Keywords: Expansion, Triangular fuzzy numbers, Trigonometric functions.

Corresponding Author: Salim Rezvani (salim_rezvani@yahoo.com)

1. INTRODUCTION

Algebraic equations involving fuzzy numbers are an important application of fuzzy set theory. Fuzzy numbers can be used for expert system reasoning, fuzzy process modeling and control, and so forth. Previous studies on fuzzy numbers have shown that there are no opposite and reverse fuzzy numbers in the sense of group structure [1, 4, 5]. Fuzzy systems including fuzzy set theory and fuzzy logic have many successful applications. Sophisticated fuzzy set theoretic methods have been applied to various areas ranging from fuzzy topological spaces to quantum optics, medicine and so on [2, 8]. But Most of the recent research work on special behavior of fuzzy numbers like factorial, exponential, logarithmic and trigonometric is limited and much of the work is concentrated on linear fuzzy system of equations and their applications [3, 7]. A good and a detailed representation of fuzzy numbers in the domain of combinatorics and their related arithmetic behavior is described

by Kauffman and Gupta [5] but the method of explanation is based upon the α -cut approach and a clear view of its application on triangular fuzzy numbers is not adequately comprehensible.

In this paper a specific attention is given to fuzzy numbers of type (m, α, β) and the related mathematical expressions for evaluation Taylor series expansion. For example used along with simple mathematical multiplication of two triangular fuzzy numbers Bansal [1]. Moreover, Rezvani [9, 10, 11, 12, 13] have a good work on behavior of fuzzy numbers.

The purpose of this paper is to present a calculation method for expansion functions with triangular fuzzy numbers. Section 2 presents basic concepts and definitions of triangular fuzzy numbers. Section 3 we applied numerical example for $\cos(x)$ and $\cosh(x)$. Section 4 introduces how to calculate $\sin(x)$, and $\sinh(x)$, $\arctan(x)$ and use our method to calculate triangular fuzzy numbers. Finally, concluding remarks, figures and examples are given in Section 4.

2. PRELIMINARIES

Definition 2.1. A fuzzy number \tilde{M} is a convex normalized fuzzy set \tilde{M} of the real line \mathbb{R} such that

1. It exists exactly one $x_0 \in \mathbb{R}$ with $\mu_{\tilde{M}}(x_0) = 1$ (x_0 is called the mean value of \tilde{M}).
2. $\mu_{\tilde{M}}(x)$ is piecewise continuous.

Definition 2.2. Generally, a generalized fuzzy number A is described as any fuzzy subset of the real line R , whose membership function $\mu_A(u)$ satisfies the following conditions,

- (i) $\mu_A(u)$ is a continuous mapping from R to the closed interval $[0,1]$,
- (ii) $\mu_A(u) = 0, -\infty < u \leq \underline{a}$,
- (iii) $\mu_A(u) = L(u)$ is strictly increasing on $[\underline{a}, a]$,
- (iv) $\mu_A(u) = w, u = a$,
- (v) $\mu_A(u) = R(u)$ is strictly decreasing on $[a, \bar{a}]$,
- (vi) $\mu_A(u) = 0, \bar{a} \leq u < \infty$

Where $0 < w \leq 1$ and \underline{a}, a , and \bar{a} are real numbers.

We call this type of generalized fuzzy number a triangular fuzzy number, and it is denoted by $A = (\underline{a}, a, \bar{a}; w)_{LR}$.

When $w = 1$, this type of generalized fuzzy number is called normal fuzzy number and is represented by $A = (\underline{a}, a, \bar{a})_{LR}$.

A fuzzy number \tilde{M} is of LR -type if there exist reference functions L (for left), R (for right), and scalars $\alpha > 0, \beta > 0$ with

$$(2.1) \quad \mu_{\tilde{M}}(x) = \begin{cases} L(\frac{m-x}{\alpha}) & x \leq m, \\ R(\frac{x-m}{\beta}) & x \geq m, \end{cases}$$

m , called the mean value of \tilde{M} , is real number, and α, β are called the left and right spreads, respectively. Symbolically, \tilde{M} is denoted by $(m, \alpha, \beta)_{LR}$.

Theorem 2.3. Let \tilde{M}, \tilde{N} be two fuzzy numbers of LR -type:

$$\tilde{M} = (m, \alpha, \beta)_{LR}, \quad \tilde{N} = (n, \lambda, \delta)_{LR}$$

Then

1. $(m, \alpha, \beta)_{LR} \oplus (n, \lambda, \delta)_{LR} = (m + n, \alpha + \lambda, \beta + \delta)_{LR}$.
2. $-(m, \alpha, \beta)_{LR} = (-m, \beta, \alpha)_{LR}$
3. $(m, \alpha, \beta)_{LR} \ominus (n, \lambda, \delta)_{LR} = (m - n, \alpha + \delta, \beta + \lambda)_{LR}$.

Definition 2.4. Let \tilde{M} , \tilde{N} be fuzzy numbers as in Definition 2.1, then

$$(m, \alpha, \beta)_{LR} \odot (n, \lambda, \delta)_{LR} \approx (mn, m\lambda + n\alpha, m\delta + n\beta)_{LR}$$

for \tilde{M} , \tilde{N} positive;

$$(m, \alpha, \beta)_{LR} \odot (n, \lambda, \delta)_{LR} \approx (mn, n\alpha - m\delta, n\beta - m\lambda)_{LR}$$

for \tilde{M} positive, \tilde{N} negative, and

$$(m, \alpha, \beta)_{LR} \odot (n, \lambda, \delta)_{LR} \approx (mn, -n\beta - m\delta, n\alpha - m\lambda)_{LR}$$

for \tilde{M} , \tilde{N} negative.

Definition 2.5. Let \tilde{M} , \tilde{N} be fuzzy numbers as in Definition 2.4, then

$$(m, \alpha, \beta)_{LR} \odot (n, \lambda, \delta)_{LR} \approx (mn, m\lambda + n\alpha, m\delta + n\beta)_{LR}$$
 for \tilde{M} , \tilde{N} positive.

we can have a general formula for the n^{th} ($n > 0$):

Let $\tilde{a} = (m, \alpha, n)$ be triangular fuzzy number, where f polynomial functions as follows

$$f(m, \alpha, n) = a_{1n}m^{n-1}\alpha + a_{2n}m^{n-2}\alpha^2 + a_{3n}m^{n-3}\alpha^3 + \dots + a_{nn}\alpha^n,$$

and $a_{1n} = n$, $a_{nn} = (-1)^{n-1}$, $a_{in} = (-1)^{i-1}\{|a_{i,n-1}| + |a_{i-1,n-1}|\}$, $1 < i < n$.

In this paper, we intend to formula the expansion of a new fuzzy number using the taylor series expansion method. So we define fuzzy taylor series as follows

$$\begin{aligned} f(m, \alpha, n) &= a_{1n}m^{n-1}\alpha + a_{2n}m^{n-2}\alpha^2 + a_{3n}m^{n-3}\alpha^3 + \dots + a_{nn}\alpha^n, \\ f'(m, \alpha, n) &= a_{1n}m^{n-1} + 2a_{2n}m^{n-2}\alpha + 3a_{3n}m^{n-3}\alpha^2 + \dots + na_{nn}\alpha^{n-1}, \\ f''(m, \alpha, n) &= 2a_{2n}m^{n-2} + 6a_{3n}m^{n-3}\alpha + 12a_{4n}m^{n-4}\alpha^2 + \dots + n(n-1)a_{nn}\alpha^{n-2}, \\ f^{(3)}(m, \alpha, n) &= 6a_{3n}m^{n-3} + 24a_{4n}m^{n-4}\alpha + 60a_{5n}m^{n-5}\alpha^2 + \dots \\ &\quad + n(n-1)(n-2)a_{nn}\alpha^{n-3}, \\ f^{(4)}(m, \alpha, n) &= 24a_{4n}m^{n-4} + 120a_{5n}m^{n-5}\alpha + 360a_{6n}m^{n-6}\alpha^2 + \dots \\ &\quad + n(n-1)(n-2)(n-3)a_{nn}\alpha^{n-4}, \\ &\dots \end{aligned}$$

$$\begin{aligned} f^{(i)}(m, \alpha, n) &= i!a_{in}m^{n-i} + (i+1)!a_{(i+1)n}m^{n-(i+1)}\alpha \\ &\quad + (i+2)!a_{(i+2)n}m^{n-(i+2)}\alpha^2 + \dots + n(n-1)(n-2)(n-3)\dots(n-(i-1))a_{nn}\alpha^{n-i} \end{aligned}$$

$$f(\tilde{x}) = f(\tilde{a}) + \frac{(\tilde{x}-\tilde{a})f'(\tilde{a})}{1!} + \frac{(\tilde{x}-\tilde{a})^2f''(\tilde{a})}{2!} + \frac{(\tilde{x}-\tilde{a})^3f^{(3)}(\tilde{a})}{3!} + \dots + \frac{(\tilde{x}-\tilde{a})^nf^{(n)}(\tilde{a})}{n!}$$

$$\begin{aligned} f(\tilde{x}) &= a_{1n}m^{n-1}\alpha + a_{2n}m^{n-2}\alpha^2 + a_{3n}m^{n-3}\alpha^3 + \dots + a_{nn}\alpha^n \\ &\quad + \frac{(x-a)(a_{1n}m^{n-1} + 2a_{2n}m^{n-2}\alpha + 3a_{3n}m^{n-3}\alpha^2 + \dots + na_{nn}\alpha^{n-1})}{1!} \\ &\quad + \frac{1}{2!} \left((x-a)^2(2a_{2n}m^{n-2} + 6a_{3n}m^{n-3}\alpha + 12a_{4n}m^{n-4}\alpha^2 + \dots \right. \\ &\quad \quad \left. + n(n-1)a_{nn}\alpha^{n-2}) \right) \\ &\quad + \frac{1}{3!} \left((x-a)^3(6a_{3n}m^{n-3} + 24a_{4n}m^{n-4}\alpha + 60a_{5n}m^{n-5}\alpha^2 + \dots \right. \end{aligned}$$

$$\begin{aligned}
 & +n(n-1)(n-2)a_{nn}\alpha^{n-3}) \\
 \dots & \\
 & +\frac{1}{n!}\left((x-a)^n(i!a_{in}m^{n-i}+(i+1)!a_{(i+1)n}m^{n-(i+1)}\alpha\right. \\
 & \quad \left.+(i+2)!a_{(i+2)n}m^{n-(i+2)}\alpha^2+\dots\right. \\
 & \quad \left.+n(n-1)(n-2)(n-3)\dots(n-(i-1))a_{nn}\alpha^{n-i}\right). \\
 (m, \alpha, \beta)^2 & = (m^2, 2m\alpha - \alpha^2, 2m\beta + \beta^2), \\
 (m, \alpha, \beta)^3 & = (m^3, 3m^2\alpha - 3m\alpha^2 + \alpha^3, 3m^2\beta + 3m\beta^2 + \beta^3), \\
 (m, \alpha, \beta)^4 & = (m^4, 4m^3\alpha - 6m^2\alpha^2 + 4m\alpha^3 - \alpha^4, 4m^3\beta + 6m^2\beta^2 + 4m\beta^3 + \beta^4), \\
 (m, \alpha, \beta)^5 & = (m^5, 5m^4\alpha - 10m^3\alpha^2 + 10m^2\alpha^3 - 5m\alpha^4 + \alpha^5, \\
 & \quad 5m^4\beta + 10m^3\beta^2 + 10m^2\beta^3 + 5m\beta^4 + \beta^5), \\
 (m, \alpha, \beta)^6 & = (m^6, 6m^5\alpha - 15m^4\alpha^2 + 20m^3\alpha^3 - 15m^2\alpha^4 + 6m\alpha^5 - \alpha^6, \\
 & \quad 6m^5\beta + 15m^4\beta^2 + 20m^3\beta^3 + 15m^2\beta^4 + 6m\beta^5 + \beta^6), \\
 \dots & .
 \end{aligned}$$

3. A NEW FUZZY TAYLOR SERIES EXPANSION FOR $\cos(\mathbf{x})$ AND $\cosh(\mathbf{x})$

Since $\cos(x)$ expansion of a real number is defined as follows, we will extend the some formula for a triangular fuzzy number

$$\cos(x) = 1 - \frac{x^2}{2!} + \frac{x^4}{4!} - \frac{x^6}{6!} + \dots,$$

$$\cos(x) = 1 + \sum_{i=1}^{\infty} \frac{(-1)^i(x)^{2i}}{(2i)!},$$

For $\tilde{x} = (m, \alpha, \beta)$, we have

$$\cos(\tilde{x}) = 1 - \frac{\tilde{x}^2}{2!} + \frac{\tilde{x}^4}{4!} - \frac{\tilde{x}^6}{6!} + \dots,$$

Or

$$\cos(m, \alpha, \beta) = (1, 0, 0) + \sum_{i=1}^{\infty} \frac{(-1)^i(m, \alpha, \beta)^{2i}}{(2i)!}.$$

let

$$\cos(m') = 1 - \frac{m'^2}{2!} + \frac{m'^4}{4!} - \frac{m'^6}{6!} \pm \dots,$$

now we suppose $m' = (m - \alpha)$, so we have

$$\cos(m - \alpha) = 1 - \frac{(m - \alpha)^2}{2!} + \frac{(m - \alpha)^4}{4!} - \frac{(m - \alpha)^6}{6!} \pm \dots,$$

Similarly using the general recursive formula for (m, α, β) we have

$$\cos(\tilde{x}) = 1 - \frac{\tilde{x}^2}{2!} + \frac{\tilde{x}^4}{4!} - \frac{\tilde{x}^6}{6!} + \dots = 1 - \frac{(m, \alpha, \beta)^2}{2!} + \frac{(m, \alpha, \beta)^4}{4!}$$

$$\cos(\tilde{x}) = 1 - \frac{\tilde{x}^2}{2!} + \frac{\tilde{x}^4}{4!} - \frac{\tilde{x}^6}{6!} + \dots = 1 - \frac{(m, \alpha, \beta)^2}{2!} + \frac{(m, \alpha, \beta)^4}{4!} - \frac{(m, \alpha, \beta)^6}{6!} \pm \dots$$

$$\begin{aligned}
 &= 1 - \frac{1}{2!}(m^2, 2m\alpha - \alpha^2, 2m\beta + \beta^2) + \frac{1}{4!}(m^4, 4m^3\alpha - 6m^2\alpha^2 \\
 &\quad + 4m\alpha^3 - \alpha^4, 4m^3\beta + 6m^2\beta^2 + 4m\beta^3 + \beta^4) \\
 &\quad - \frac{1}{6!}(m^6, 6m^5\alpha - 15m^4\alpha^2 + 20m^3\alpha^3 - 15m^2\alpha^4 + 6m\alpha^5 - \alpha^6, \\
 &\quad 6m^5\beta + 15m^4\beta^2 + 20m^3\beta^3 + 15m^2\beta^4 + 6m\beta^5 + \beta^6) \pm \dots \\
 &= (1 - \frac{m^2}{2!} + \frac{m^4}{4!} - \frac{m^6}{6!} \pm \dots), (\alpha(-\frac{2m}{2!} + \frac{4m^3}{4!} - \frac{6m^5}{6!} \mp \dots) + \alpha^2(\frac{1}{2!} - \frac{6m^2}{4!} + \frac{15m^4}{6!} \pm \dots)) \\
 &\quad + \alpha^3(\frac{4m}{4!} - \frac{20m^3}{6!} \pm \dots) \dots, (\beta(-\frac{2m}{2!} + \frac{4m^3}{4!} - \frac{6m^5}{6!} \mp \dots) \\
 &\quad + \beta^2(-\frac{1}{2!} + \frac{6m^2}{4!} - \frac{15m^4}{6!} \mp \dots) + \beta^3(\frac{4m}{4!} - \frac{20m^3}{6!} \pm \dots) \dots) \\
 &= (\cos m, \cos m - \cos m', \cos m'' - \cos m). \text{ In result} \\
 &\quad \cos(m, \alpha, \beta) = (\cos m, \cos m - \cos m', \cos m'' - \cos m).
 \end{aligned}$$

where we supposed

$$m' = (m - \alpha)$$

$$m'' = (m + \beta)$$

Remark 3.1. In similar method, we can obtain $\cosh(x)$ as follows

$$\cosh(x) = 1 + \frac{x^2}{2!} + \frac{x^4}{4!} + \frac{x^6}{6!} + \dots$$

$$\cosh(x) = 1 + \sum_{i=1}^{\infty} \frac{(x)^{2i}}{(2i)!}$$

$$\cosh(\tilde{x}) = 1 + \frac{\tilde{x}^2}{2!} + \frac{\tilde{x}^4}{4!} + \frac{\tilde{x}^6}{6!} + \dots$$

$$\begin{aligned}
 \cosh(m, \alpha, \beta) &= (1, 0, 0) + \sum_{i=1}^{\infty} \frac{(m, \alpha, \beta)^{2i}}{(2i)!} = 1 + \frac{(m, \alpha, \beta)^2}{2!} + \frac{(m, \alpha, \beta)^4}{4!} + \frac{(m, \alpha, \beta)^6}{6!} + \dots \\
 &= 1 + \frac{(m^2, 2m\alpha - \alpha^2, 2m\beta + \beta^2)}{2!} + \frac{(m^4, 4m^3\alpha - 6m^2\alpha^2 + 4m\alpha^3 - \alpha^4, 4m^3\beta + 6m^2\beta^2 + 4m\beta^3 + \beta^4)}{4!} \\
 &\quad + \frac{1}{6!}(m^6, 6m^5\alpha - 15m^4\alpha^2 + 20m^3\alpha^3 - 15m^2\alpha^4 + 6m\alpha^5 - \alpha^6, \\
 &\quad 6m^5\beta + 15m^4\beta^2 + 20m^3\beta^3 + 15m^2\beta^4 + 6m\beta^5 + \beta^6) + \dots \\
 &= (1 + \frac{m^2}{2!} + \frac{m^4}{4!} + \frac{m^6}{6!} + \dots), (\alpha(\frac{2m}{2!} + \frac{4m^3}{4!} + \frac{6m^5}{6!} + \dots) - \alpha^2(\frac{1}{2!} + \frac{6m^2}{4!} + \frac{15m^4}{6!} + \dots)) \\
 &\quad + \alpha^3(\frac{4m}{4!} + \frac{20m^3}{6!} + \dots) \dots, (\beta(\frac{2m}{2!} + \frac{4m^3}{4!} + \frac{6m^5}{6!} + \dots) + \beta^2(\frac{1}{2!} + \frac{6m^2}{4!} + \frac{15m^4}{6!} + \dots)) \\
 &\quad + \beta^3(\frac{4m}{4!} + \frac{20m^3}{6!} + \dots) \dots) \\
 &= (\cosh m, \cosh m - \cosh m', \cosh m'' - \cosh m).
 \end{aligned}$$

In result

$$\cosh(m, \alpha, \beta) = (\cosh m, \cosh m - \cosh m', \cosh m'' - \cosh m).$$

where we supposed

$$m' = (m - \alpha)$$

$$m'' = (m + \beta)$$

Example 3.2. Find fuzzy $\cos(x)$ expansion in $(18, 14, 9)$.

$$\tilde{x} = (m, \alpha, \beta) = (18, 14, 9)$$

$$\cos(\tilde{x}) = \cos(m, \alpha, \beta) = (\cos m, \cos m - \cos(m - \alpha), \cos(m + \beta) - \cos m),$$

$$\cos(18, 14, 9) = (\cos 18, \cos 18 - \cos m', \cos m'' - \cos 18)$$

$$m' = (18 - 14) = 4$$

$$m'' = (18 + 9) = 27$$

then

$$\begin{aligned} \cos(18, 14, 9) &= (\cos 18, \cos 18 - \cos 4, \cos 27 - \cos 18) \\ &= (0.951056516295154, 0.951056516295154 - 0.997564050259824, \\ &\quad 0.891006524188368 - 0.951056516295154) \\ &= (0.951056516295154, -0.046507533964671, -0.060049992106786) \\ &\simeq (0.95, -0.05, -0.06). \end{aligned}$$

Example 3.3. Find fuzzy $\cosh(x)$ expansion in $(18, 14, 9)$.

$$\tilde{x} = (m, \alpha, \beta) = (18, 14, 9)$$

$$\cosh(\tilde{x}) = \cosh(m, \alpha, \beta) = (\cosh m, \cosh m - \cosh(m - \alpha), \cosh(m + \beta) - \cosh m),$$

$$\cosh(18, 14, 9) = (\cosh 18, \cosh 18 - \cosh m', \cosh m'' - \cosh 18)$$

$$m' = (18 - 14) = 4$$

$$m'' = (18 + 9) = 27$$

then

$$\begin{aligned} \cosh(18, 14, 9) &= (\cosh 18, \cosh 18 - \cosh 4, \cosh 27 - \cosh 18) \\ &= (3.282998456866526e + 007, 3.282998456866526e + 007 - 27.308232836016487, \\ &\quad 2.660241203008993e + 011 - 3.282998456866526e + 007) \\ &= (3.282998456866526e + 007, 3.282995726043243e + 007, 2.659912903163307e + 011). \end{aligned}$$

4. FUZZY TAYLOR SERIES EXPANSION FOR $\sin(x)$, $\sinh(x)$

In last section we defined a new fuzzy Taylor series expansion, Since $\sin(x)$ expansion of a real number is defined as follows, we will extend the some formula for a triangular fuzzy number

$$\sin(x) = \frac{x}{1!} - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} \pm \dots,$$

$$\sin(x) = \sum_{i=1}^{\infty} \frac{(-1)^{i-1}(x)^{2i-1}}{(2i-1)!}.$$

For $\tilde{x} = (m, \alpha, \beta)$, we have

$$\sin(\tilde{x}) = \frac{\tilde{x}}{1!} - \frac{\tilde{x}^3}{3!} + \frac{\tilde{x}^5}{5!} - \frac{\tilde{x}^7}{7!} \pm \dots,$$

Or

$$\sin(\tilde{x}) = \sum_{i=1}^{\infty} \frac{(-1)^{i-1}(m, \alpha, \beta)^{2i-1}}{(2i-1)!}.$$

let

$$\sin(m') = \frac{m}{1!} - \frac{m'^3}{3!} + \frac{m'^5}{5!} - \frac{m'^7}{7!} \pm \dots,$$

now we suppose $m' = (m - \alpha)$, so we have

$$\sin(m - \alpha) = \frac{(m - \alpha)}{1!} - \frac{(m - \alpha)^3}{3!} + \frac{(m - \alpha)^5}{5!} - \frac{(m - \alpha)^7}{7!} \pm \dots,$$

Similarly using the general recursive formula for (m, α, β) we have

$$\begin{aligned} \sin(\tilde{x}) &= \frac{\tilde{x}}{1!} - \frac{\tilde{x}^3}{3!} + \frac{\tilde{x}^5}{5!} - \frac{\tilde{x}^7}{7!} + \dots = \frac{(m, \alpha, \beta)}{1!} - \frac{(m, \alpha, \beta)^3}{3!} + \frac{(m, \alpha, \beta)^5}{5!} \mp \dots \\ &= \frac{(m, \alpha, \beta)}{1!} - \frac{1}{3!} (m^3, 3m^2\alpha - 3m\alpha^2 + \alpha^3, 3m^2\beta + 3m\beta^2 + \beta^3) \\ &\quad + \frac{1}{5!} (m^5, 5m^4\alpha - 10m^3\alpha^2 + 10m^2\alpha^3 - 5m\alpha^4 + \alpha^5, 5m^4\beta \\ &\quad + 10m^3\beta^2 + 10m^2\beta^3 + 5m\beta^4 + \beta^5) \mp \dots \\ &= (m - \frac{m^3}{3!} + \frac{m^5}{5!} \mp \dots), (\alpha(1 - \frac{3m^2}{3!} + \frac{5m^4}{5!} \mp \dots) + \alpha^2(\frac{3m}{3!} - \frac{10m^3}{5!} \pm \dots) \dots), \\ &\quad (\beta(1 - \frac{3m^2}{3!} + \frac{5m^4}{5!} \mp \dots) + \beta^2(-\frac{3m}{3!} + \frac{10m^3}{5!} \mp \dots) \dots) \\ &= (\sin m, \sin m - \sin m', \sin m'' - \sin m). \end{aligned}$$

In result

$$\sin(m, \alpha, \beta) = (\sin m, \sin m - \sin m', \sin m'' - \sin m).$$

where we supposed

$$m' = (m - \alpha)$$

$$m'' = (m + \beta)$$

Remark 4.1. In similar method, we can obtain $\sin(x)$ as follows

$$\sinh(x) = \frac{x}{1!} + \frac{x^3}{3!} + \frac{x^5}{5!} + \frac{x^7}{7!} + \dots$$

$$\sinh(x) = \sum_{i=1}^{\infty} \frac{(x)^{2i-1}}{(2i-1)!}$$

$$\begin{aligned} \sinh(\tilde{x}) &= \frac{\tilde{x}}{1!} + \frac{\tilde{x}^3}{3!} + \frac{\tilde{x}^5}{5!} + \frac{\tilde{x}^7}{7!} + \dots \\ &= \frac{(m, \alpha, \beta)}{1!} + \frac{(m^3, 3m^2\alpha - 3m\alpha^2 + \alpha^3, 3m^2\beta + 3m\beta^2 + \beta^3)}{3!} \\ &\quad + \frac{1}{5!} \left(m^5, 5m^4\alpha - 10m^3\alpha^2 + 10m^2\alpha^3 - 5m\alpha^4 + \alpha^5, 5m^4\beta \right. \\ &\quad \left. + 10m^3\beta^2 + 10m^2\beta^3 + 5m\beta^4 + \beta^5 \right) + \dots \\ &= \left(m + \frac{m^3}{3!} + \frac{m^5}{5!} + \dots \right), \left(\alpha \left(1 + \frac{3m^2}{3!} + \frac{5m^4}{5!} + \dots \right) + \alpha^2 \left(-\frac{3m}{3!} - \frac{10m^3}{5!} - \dots \right) \dots \right), \\ &\quad \left(\beta \left(1 + \frac{3m^2}{3!} + \frac{5m^4}{5!} + \dots \right) + \beta^2 \left(\frac{3m}{3!} + \frac{10m^3}{5!} + \dots \right) \dots \right) \\ &= (\sinh m, \sinh m - \sinh m', \sinh m'' - \sinh m). \end{aligned}$$

In result

$$\sinh(m, \alpha, \beta) = (\sinh m, \sinh m - \sinh m', \sinh m'' - \sinh m).$$

where we supposed

$$m' = (m - \alpha)$$

$$m'' = (m + \beta)$$

Example 4.2. Find fuzzy $\sin(x)$ expansion in $(18, 14, 9)$.

$$\tilde{x} = (m, \alpha, \beta) = (18, 14, 9)$$

$$\sin(\tilde{x}) = \sin(m, \alpha, \beta) = (\sin m, \sin m - \sin(m - \alpha), \sin(m + \beta) - \sin m),$$

$$\sin(18, 14, 9) = (\sin 18, \sin 18 - \sin m', \sin m'' - \sin 18)$$

$$m' = (18 - 14) = 4$$

$$m'' = (18 + 9) = 27$$

then

$$\begin{aligned} \sin(18, 14, 9) &= (\sin 18, \sin 18 - \sin 4, \sin 27 - \sin 18) \\ &= (0.309016994374947, 0.309016994374947 - 0.069756473744125, \\ &\quad 0.453990499739547 - 0.309016994374947) \\ &= (0.309016994374947, 0.239260520630822, 0.144973505364599) \\ &\simeq (0.31, 0.24, 0.14). \end{aligned}$$

Example 4.3. Find fuzzy $\sinh(x)$ expansion in $(18, 14, 9)$.

$$\tilde{x} = (m, \alpha, \beta) = (18, 14, 9)$$

$$\sinh(\tilde{x}) = \sinh(m, \alpha, \beta) = (\sinh m, \sinh m - \sinh(m - \alpha), \sinh(m + \beta) - \sinh m),$$

$$\sinh(18, 14, 9) = (\sinh 18, \sinh 18 - \sinh m', \sinh m'' - \sinh 18)$$

$$m' = (18 - 14) = 4$$

$$m'' = (18 + 9) = 27$$

then

$$\sinh(18, 14, 9) = (\sinh 18, \sinh 18 - \sinh 4, \sinh 27 - \sinh 18)$$

$$= (3.282998456866525e + 007, 3.282998456866525e + 007 - 27.289917197127750,$$

$$2.660241203008993e + 011 - 3.282998456866525e + 007)$$

$$= (3.282998456866525e + 007, 3.282995727874805e + 007,$$

$$2.659912903163307e + 011)$$

In similar way, we introduce a new fuzzy **arctan(x)** Taylor series expansion for triangular fuzzy numbers

$$\arctan(x) = \frac{x}{1} - \frac{x^3}{3} + \frac{x^5}{5} - \frac{x^7}{7} + \dots,$$

$$\arctan(x) = \sum_{i=1}^{\infty} \frac{(-1)^{i-1} (x)^{2i-1}}{(2i-1)}.$$

For $\tilde{x} = (m, \alpha, \beta)$, we have

$$\arctan(\tilde{x}) = \frac{\tilde{x}}{1} - \frac{\tilde{x}^3}{3} + \frac{\tilde{x}^5}{5} - \frac{\tilde{x}^7}{7} + \dots,$$

Or

$$\arctan(\tilde{x}) = \sum_{i=1}^{\infty} \frac{(-1)^{i-1} (m, \alpha, \beta)^{2i-1}}{(2i-1)}.$$

Similarly using the general recursive formula for (m, α, β) we have

$$\arctan(\tilde{x}) = \frac{\tilde{x}}{1} - \frac{\tilde{x}^3}{3} + \frac{\tilde{x}^5}{5} - \frac{\tilde{x}^7}{7} + \dots$$

$$= \frac{(m, \alpha, \beta)}{1} - \frac{(m, \alpha, \beta)^3}{3} + \frac{(m, \alpha, \beta)^5}{5} - \frac{(m, \alpha, \beta)^7}{7} \pm \dots$$

$$= \frac{(m, \alpha, \beta)}{1} - \frac{(m^3, 3m^2\alpha - 3m\alpha^2 + \alpha^3, 3m^2\beta + 3m\beta^2 + \beta^3)}{3}$$

$$+ \frac{1}{5} \left(m^5, 5m^4\alpha - 10m^3\alpha^2 + 10m^2\alpha^3 - 5m\alpha^4 + \alpha^5, 5m^4\beta + \right.$$

$$\left. 10m^3\beta^2 + 10m^2\beta^3 + 5m\beta^4 + \beta^5 \right) \mp \dots$$

$$= \left(\frac{m}{1} - \frac{m^3}{3} + \frac{m^5}{5} \mp \dots \right), \left(\alpha \left(1 - \frac{3m^2}{3} + \frac{5m^4}{5} \mp \dots \right) + \alpha^2 \left(\frac{3m}{3} - \frac{10m^3}{5} \pm \dots \right) \dots \right),$$

$$\begin{aligned} & (\beta(1 - \frac{3m^2}{3} + \frac{5m^4}{5} \mp \dots) + \beta^2(-\frac{3m}{3} + \frac{10m^3}{5} \mp \dots)\dots) \\ & = (\arctan m, \arctan m - \arctan m', \arctan m'' - \arctan m). \end{aligned}$$

In result

$$\arctan(m, \alpha, \beta) = (\arctan m, \arctan m - \arctan m', \arctan m'' - \arctan m).$$

where we supposed

$$m' = (m - \alpha)$$

$$m'' = (m + \beta)$$

Example 4.4. Find fuzzy $\arctan(x)$ expansion in $(18, 14, 9)$.

$$\tilde{x} = (m, \alpha, \beta) = (18, 14, 9)$$

$$\arctan(\tilde{x}) = \arctan(m, \alpha, \beta) = (\arctan m, \arctan m - \arctan(m - \alpha),$$

$$\arctan(m + \beta) - \arctan m),$$

$$\arctan(18, 14, 9) = (\arctan 18, \arctan 18 - \arctan m', \arctan m'' - \arctan 18)$$

$$m' = (18 - 14) = 4$$

$$m'' = (18 + 9) = 27$$

then

$$\arctan(18, 14, 9) = (\arctan 18, \arctan 18 - \arctan 4, \arctan 27 - \arctan 18)$$

$$= (86.8202, 86.8202 - 75.9638, 87.8789 - 86.8202) = (86.8202, 10.8564, 1.0587).$$

REFERENCES

- [1] A. Bansal, Some non linear arithmetic operations on triangular fuzzy numbers (m, α, β) , Advances in Fuzzy Mathematics 5(2) (2010) 147–156.
- [2] J. J. Buckley and Y. Qu, Solving systems of linear fuzzy equations, Fuzzy Sets and Systems 43(1) (1991) 33–43.
- [3] M. Dehghan and B. Hashemi, Solution of the fully fuzzy linear system using the decomposition procedure, Appl. Math. Comput. 182(2) (2006) 1568–1580.
- [4] D. Dubois and H. Prade, Fuzzy real algebra: Some results, Fuzzy Sets and Systems 2(4) (1979) 327–348.
- [5] A. Kauffmann and M. M. Gupta, Introduction to Fuzzy Arithmetic, Theory and Applications, New York: Van Nostrand Reinhold, 1991.
- [6] R. B. Kearfott and V. Kreinovich, Applications of Interval Computations, Kluwer Academic Publishers, Dordrecht/Boston/London, 1996.
- [7] M. Mizumoto and K. Tanaka, Some properties of fuzzy numbers, in Advances in Fuzzy Set Theory and Applications, North-Holland, Amsterdam, (1979) 153–164.
- [8] H. T. Nguyen and V. Kreinovich, Nested intervals and sets: concepts, relations to fuzzy sets, and applications, Applications of Interval Computations, R.B. Kearfott et al., eds., Kluwer Academic Publishers, Netherlands (1996) 254–90.
- [9] S. Rezvani, Arithmetic operations on trapezoidal fuzzy numbers, Journal of Nonlinear Analysis and Application, accepted, 2012.
- [10] S. Rezvani, A new method for ranking in perimeters of two generalized trapezoidal fuzzy numbers, International Journal of Applied Operational Research 2(3) (2012) 83–90.

- [11] S. Rezvani, Ranking method of trapezoidal intuitionistic fuzzy numbers Ann. Fuzzy Math. Inform. (in press).
- [12] S. Rezvani, Three-tier FMCDM problems with trapezoidal fuzzy number World Applied Sciences Journal 10(9) (2010) 1106-1113.
- [13] A. Taleshian and S. Rezvani, Multiplication operation on trapezoidal fuzzy numbers J. Phys. Sci. 15 (2011) 17–26.
- [14] R. Yager, On solving fuzzy mathematical relationships, Inform. and Control 41(1) (1979) 29–55.
- [15] L. A. Zadeh, Fuzzy set Information and Control, 8 (1965) 338–353.

SALIM REZVANI (salim_rezvani@yahoo.com)

Department of Mathematics, Imam Khomani Mritime University of Nowshahr,
Nowshahr, Iran.